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Chapter 3
Applying the Concepts

For exercise with blanks (___) fill each blank with a single word or number.

For exercise with ellipses (…..) complete the statement with as many words as necessary.

For exercise with words in brackets ([increase, decrease]) circle the correct word.

1. Labor Pooling: What's Fixed and Variable? 

Consider the model of labor pooling, with each firm locating either in an isolated site or in a cluster with other firms. Fill the blanks with "fixed" or "variable".

a. In an isolated site, the wage is ________ and the firm's workforce is _________because ……. 

b. In a cluster, the wage is _____________and the firm's workforce is ________ because ……..
c. Illustrate with two graphs, one for the isolated site and one for the cluster. 
2. Tradeoffs with Clustering for Labor Pooling 

Consider the model of labor pooling, with each firm locating either in an isolated site or in a cluster with other firms. Suppose that good times (high demand) and bad times (low demand) are equally likely. The table shows wages and workforces in different times and locations.






Isolated

     
    Cluster



  
             Wage
         Workforce                    Wage           Workforce

Good times (high demand)

$40
 
50

$30

60

Bad times (low demand)

$20

50

$30

40
a. Use a figure like Figure 3_2 to illustrate the situation.
b. During good times, the benefit of being in the cluster as opposed to being isolated is ________, computed as …….
b. During bad times, the cost of being in the cluster as opposed to being isolated is ________, computed as ………
d. The benefit exceeds the cost because a firm in a cluster ………..
3. Mr. Mullet’s Carnival

Mr. Mullet runs a traveling carnival that hires local workers in each city it visits. The demand for carnival activities is uncertain, with low or high demand equally likely in any given city. At the end of the year, Mr. Mullet reviews his financial records and discovers some puzzling differences between his experiences in small and large cities.
i. He always paid the same wage in large cities ($9), but paid different wages in small cities ($6 or $12).
ii. He always hired the same quantity of labor in small cities (20 workers), but different quantities in big cities (10 or 30 workers).

a. Using Figure 3_2 as a model, illustrate with two graphs, one for the typical small city and one for the typical big city. Assume that the demand curves for labor are linear and parallel, with vertical intercepts of $18 (high demand) and $12 (low demand).

b. In the typical big city with high demand, his profit is ______ computed as ……..
c. In the typical big city with low demand, his profit is _______ computed as ………
d. In the typical small city with high demand, his profit is _______ computed as …….
e. In the typical small city with low demand, his profit is _________ computed as …….
f. His expected profit is ________ in a big city, compared to _______ in a small city.

4. Number of Workers and Net Wages

Using Table 3_2 as a starting point, suppose the gross wage is $36 and the unit training cost is $48. Complete the following table.
Number of Workers 
Skills Gap 
Training Cost 

Net Wage

4

_____

  _____
  
 ______
8

_____

  _____
   
 ______
24

_____

  _____
   
 ______
5. Advertising and Corporate Clusters

Consider corporations that use advertising firms to develop marketing campaigns. Each corporation buys one campaign per year, and the cost per campaign is $120/n, where n= the number of corporations in the cluster (and campaigns per year). The cost of labor per firm is $30 * n. A corporation’s profit equals its total revenue of $200 minus the sum of its marketing and labor costs.
There are two location options: an isolated site (n = 1) or cluster with up to five corporations.
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a. Use a graph like Figure 3_4 to show the profit gap (profit in cluster_ profit in isolation) for one through five corporations.
b. If initially all corporations are isolated and then one joins another to form a two corporation cluster, other firms [will, won’t] have an incentive to join the cluster because ……
c. In the long run equilibrium, there will be a cluster of _____corporations, each of which will earn a profit of _____ differing from the profit of an isolated site by _____
6. Agglomeration Economies and Auto Row

Chapter 1 uses Auto Row as an example of self_ reinforcing changes that lead to extreme outcomes. Consider a city with three isolated automobile dealers, each of which has three buyers per day. The profit per car sold is $ 1,000. A two dealer cluster would get six times as many buyers (18), and a three dealer cluster would get 12 times as many buyers (36).
a. Use a graph like Figure 34 to show the profit gap (the profit for a firm in a cluster minus the profit for an isolated firm) for one, two, and three dealers.

	 Number of firms
	Cars sold in cluster
	Cars sold per firm
	Profit per firm
	Profit gap

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


b. If initially all dealers are isolated and then one joins another to form a two dealer cluster, other firms [will, won’t] have an incentive to join the cluster because …..
7. Diversify the Economy?

According to the conventional wisdom concerning urban economic development, a city should develop a diverse economy with a large number of different industries. Evaluate the merits of this advice in light of the empirical evidence concerning the magnitudes of localization and urbanization economies.

8. Explain particular clusters.

Write the top three industry clusters in your country according to the European Clusters Observatory (see report Innovation Clusters in Europe), and the region where they are located. Explain briefly the reasons for that industry to cluster in the region.
